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QUESTION 1

What is the maximum channel width supported by 802.11ac (VHT) in the standard?
A. 40 MHz

B. 80 MHz

C. 160 MHz

D. 20 MHz

Correct Answer: C

QUESTION 2

How many channels are available in the 2.4 GHz frequency band in all regulatory domains? Select one:
A3

B. 14

C.13

D.11

Correct Answer: B

QUESTION 3

You have configured a WLAN profile on a client computer for a hidden SSID network. The SSID operates in both 2.4
GHz and 5 GHz. The profile never connects or even attempts to connect. What is the most likely configuration error in
the profile or on the computer?

A. Wrong passphrase

B. Band selection is configured for 5 GHz-only

C. Wrong SSID

D. Band selection is configured for 2.4 GHz-only

Correct Answer: C

QUESTION 4

You are using 802.1X/EAP for enterprise authentication for your WLAN. Where must the RADIUS server\\'s IP address
be configured to enable this for the WLAN?

CWT-100 VCE Dumps | CWT-100 Practice Test | CWT-100 Study Guide 2/3


https://www.pass2lead.com/cwt-100.html
https://www.pass2lead.com/cwt-100.html
https://www.pass2lead.com/cwt-100.html

P 2L d https://lwww.pass2lead.com/cwt-100.html
aSS ea 2024 Latest pass2lead CWT-100 PDF and VCE dumps Download

—— https://Pass2Lead.com

A. Wireless desktops
B. Subnet router

C. Wireless laptops
D. AP

Correct Answer: D

QUESTION 5

You have five APs and each AP has an average of 63 connected and active clients an any given moment. Many users
complain that throughput is poor on the WLAN. You use only channels 1, 6 and 11 in 2.4 GHz on these APs and have
configured them with a staggered channel plan. You are not using the 5 GHz radios available in the APs. What action

would have the most significant positive impact on performance?

A. Install two more APs in the 2.4 GHz frequency band

B. Enable the 5 GHz radios on all five APs

C. Increase the output power on all five APs

D. Change the channels to 3 and 7 on two of the APs

Correct Answer: B
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